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Group A

1. a) What is meant by the assertion that the level of output and consumption in a monopoly industry is inefficient? Illustrate your answer using a chart.

b) Illustrating with examples, indicate the various types of fixed costs incurred in by a restaurant.
2.Why can the mere existence of “trade brands” make the demand curve directed to a producer of watches downward sloping?
3. An increase in the price of oil in world markets leads to an increase in the profit maximizing retail-price of petrol. Why? Explain your economic arguments with the aid of a graphical analysis.
Note: In your answer, ignore the effect of possible entry by new firms.






Group B

1.Explain the various reasons that support the following assertion: “Even with patents, the profits obtained by the author of one innovation fall short of the value this generates for society as a whole”.

2.  1001 consumers are uniformly spread along an avenue 1km long (from the position 0 to the position 1000). There are two shops in this avenue: shop A located at 250,1 meters and shop B located at 750 meters.
The transport cost is equal to 1 cent per meter. Each consumer buys one liter of milk, whatever its price. One liter of milk at shop B costs 50 cents.

a) Determine the demand function of milk directed to shop A for any price above 50 cents. Illustrate through a chart.

b) If the transport cost rises from 1 cent up to 2 cents per meter, the demand of milk directed to shop B will become more or less sensitive to price changes? Explain.
3. Suppose the market demand curve of a certain good is given by Qd = 16 – P. In that industry, there is one dominant firm and a competitive fringe that sells 4 units whatever the market price. There are no variable costs.

a) Which price should be set by the dominant firm?

b) Suppose the dominant firm takes over some of the other firms of the industry, so that the competitive fringe now sells only half of the quantity mentioned above. What will happen to the market price?

c) In this new equilibrium, suppose that the dominant firm decides to spend in publicity as much as 3% of the value of its sales. In the context of the Dorfman-Steiner model, which value of the “elasticity of demand with respect to publicity” would justify that decision? Explain.



Extra questions for students who make only part A
1.Consider an industry operating under monopolistic competition which is in long-run equilibrium.

a)Explain the effects of a decline in the wages of the workers of that industry.

b)Explain the effects of an increase in the demand of the product of that industry.

c)Compare the final effects of the two previous events.

2.a) When Galp cuts its price toward a new monopoly price, it tends to expect to be followed by BP and Repsol. Why?

b) When Galp raises its price toward a new monopoly price, it tends to expect to be followed by BP and Repsol. Why?

3.The Common Agricultural Policy (CAP) of the European Union involves both tariffs/quotas over imports and subsidies to exports of agricultural products.

a) What is the impact of those measures on the prices of agricultural products in the internal European market? Explain

b) What would happen if, among those measures, subsidies to exports were eliminated? Explain.

c) What would happen if, among those measures, tariffs and quotas over imports were eliminated? Explain.

